
Slavonic LOVE STORY 2 Test Calculation Sheet

The psychologist, however, has to change the names for factor symbols and
arrange them into the following table over the figures of the positions. In doing so the
row order is changed from “the least guilty” to “the guiltiest”:

factors
8 7 6 5 4 3 2 1 Position in the previous row, or

grade
The least guilty the guiltiest

Table of names-to-factors compliance:

name letter factor name letter factor
Luba L h Dmitry D d
Sergey S s Marya M m
Konstantin K k Eugene E e
Petrov P p Istratiy I hy

3. Calculation of criminality index (CI):

It is necessary to sum up “e” and “hy” factor points, and, separately “k” and “p”.
Then the first total should be divided by the second.

e + hy
(grade)

+

CI= k + p
(grade)

= + =

If   1 CI  5, there’s disposition to criminal behavior;
If   0.2  CI  1, the personality is humane.

4. Orientation:  towards the Future – towards the Past

k+p+d+m
(grade)

+   +   +

O = h+s+e+hy
(grade)

= +   +   + =

O  1 means orientation towards the Future [2.6  1].
O  1 means orientation towards the Past [1  0.38].


